
Решить задачу линейного программирования  

 
1. 












=

+−

+

+

→+=

2,1,0

12

44

44

max53)(

21

21

21

21

jx

xx

xx

xx

xxxf

j

 

 2. 












=

+−

+

+

→+=

2,1,0

32

2052

1223

max32)(

21

21

21

21

jx

xx

xx

xx

xxxf

j

 

 

3. 












=

+

+−

−

→+=

2,1,0

1232

44

44

max27)(

21

21

21

21

jx

xx

xx

xx

xxxf

j

 

 4. 












=

−

+

+

→+=

2,1,0

22

1025

1052

max56)(

21

21

21

21

jx

xx

xx

xx

xxxf

j

 

 

5. 













=

+−

+

−

→+=

2,1,0

23

52

325

max34)(

21

21

21

21

jx

xx

xx

xx

xxxf

j

 

   

 


